Measuring the Diameter

of the Sun with

the Pinhole Camera

At one end of the box a pinhole is opened to allow
the sun's rays to enter. The image of the light
passing through the hole is reversely dropped on

the oily paper on the other side of the box. By
taking advantage of the appearance of the Sun
here, we can measure the true diameter of the
Sun. Let's do this experiment together
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Used materials:

v" 3 layers in dimensions of 45 x 65cm
colored cardboard

Aluminum foil

Oily paper

Ruler, meter

Pen, tape

Scissors and make-up knife
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Construction of Pinhole Camera:
Let's mark my cardboard as the edges will be 15cm. Let's make slight cuts with
our modeling tool to make folding easier




I'll fold my three cards and add them to the tip. If we fold the edges of our middle cardboard (blue color) to

be 15.3cm, other cardboards (yellow and pink) will fit comfortably

We have adjusted the length of the cartons we have added to the tip to be 100cm. You can also try this
application as 200cm, 300cm. The longer we are, the less we will be measuring.

Let's cover one end of your box with greasy paper as a screen. Depending on your request, you can make this part
of the hood.




Cover the other end of the box with aluminum foil and open a small hole with a pin.

After that ... You can see our account on the back page.
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Gidnesin Capinin Hesapl
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R: Gunes’'in Uzakl i1 g

d: Gines’in Goéridntiasunin d
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Gerekli Bilgiler:

f Ginesten ¢1 kan 1 sildakskatdarul dg¢gnyami za 8, 3
T I'sir k hirzi 1 saniyede 300000km yol ali1r.
1 Dinyani n Ca(p=12742kn) 7 42 k m

Sorul : Dinya il e Gunes arasindaki uzakl i1 k kac¢ km' di
Cevapl:
8,31 X 60 = 498,6 saniye ; 498,6 X 300000km = 149580000km

Soru2 1 Ginesin capl ka¢c km dir? (D=7?)

Cevap2.Kut umuzun boyunu 200cm yaparls a8ké,c nGion ecse'riinz.gor
D = 149580000 X ( 1,86 . 10200 . 10°) = 149580000 X 0.00931291094 km

Soru3: GuUunesin capil, Dinya'"nin c¢capitnin kac¢ katidrir?
Cevap3:

D/E = 1391094km / 12742km = 109 katirdir.



Venis gec¢cisi si1rasikamga: kul |l andi gr mi z p
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